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RRB NTPC Exam. – Practice Set
Answers with Explanation

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

1. (b) ö†yëûyîû xyëû“þ˜ ²Ìyëû 3702 î†Å!„þöìœy!›ÝþyîûÐ
2. (d) ¦þyîû“þ ¦þyöì†îû þ™îû 1947 ¢yöìœ ¢Äyîû !›!îûœé îûÄyvþ!„Ïþöìšþîû

˜yöì› ˜y›„þîû’ £öìëû!ŠéœÐ
3. (b) öšÏþyöìëû› £œ vþz!qöì”îû þ™!îûî£’ „þœy öë!Ýþ vþz!qöì”îû !î!¦þ§¬

x‚öìŸ ¢%öìe«y‹ ~î‚ x˜Äy˜Ä þ™%!ÜT þ™!îûî£’ „þöìîûÐ
4. (d) ò“þ…êéôé£zéôé“þy¢ó ›ëû)îû !¢‚£y¢˜ ˜yöì›ç þ™!îû!‰þ“þ ~î‚ ~!Ýþ

!îöìÙ»îû ¢îöì‰þöìëû îÄëûîýœ !¢‚£y¢˜ !£öì¢öìî !îöìî!‰þ“þ £ëûÐ
5. (b) ‰þyœÅ¢ vþz£zœ!„þª ¦þ†î“þ †#“þyîû £z‚öìîû!‹ x˜%îy” „þöìîû̃ Ð

vþzöìÍÔ…Ä– ‰þyœÅ¢ vþz£zœ!„þª îy‚œy ç šþîûy!¢ ¦þy¡ìyëû ›%oöì’îû
‹˜Ä Šéyþ™y…y˜y ßþiyþ™öì˜îû öÇþöìe x@ùÌ’# ¦)þ!›„þy þ™yœ˜
„þöìîû!Šéöìœ˜Ð

6. (d) ”y”y¦þy£z ˜çöìîûy‹# £öìœ˜ ²Ìí› ¦þyîû“þ#ëû !ë!˜ !îÊ!ÝþŸ
þ™yœÅyöì›öìrÝþîû ¢”¢Ä £öìëû!Šéöìœ˜Ð

7. (d) îÊyáþ ¢¦þy S²Ì!“þ!Ûþ“þ £ëû 1828 ¢yöìœV
xyëÅ ¢›y‹ S²Ì!“þ!Ûþ“þ £ëû 1875 ¢yöìœV
›yoy‹ ›£y‹˜ ¢¦þy S²Ì!“þ!Ûþ“þ £ëû 1884 ¢yöìœV

8. (b) ö‡y¨y¢ vþzþ™‹y!“þ !îÊ!ÝþŸ Ÿy¢öì̃ îû !îîû&öìkþ !îöìoy£ ö‡y¡ì’y
„þöìîû!ŠéœÐ ö‡y¨y¢ îy ö†yuþ vþzþ™‹y!“þ!Ýþ 1862 öíöì„þ 1875
¢yœ þ™ëÅhsþ !îÊ!ÝþŸ Ÿy¢öì̃ îû !îîû&öìkþ î˜ ç ¦)þ!› ¢‚e«yhsþ
˜#!“þ ~î‚ öŸy¡ìöì’îû !îîû&öìkþ ²Ìí› !îöìoy£ „þöìîûÐ

9. (c) îy!„þ‚ £y› …yœ– ö›_%îû …yœ– „þy“þyœy£z vþzF‰þ …yœ “þy!›œ˜yvþY
îûyöì‹Ä xî!ßþi“þÐ

10. (b) £zëûy‚!¢ „þíy!Ýþîû xíÅ £œ ßþº’Åöìîû’% ~î‚ !„þëûy‚ Ÿ·!Ýþîû xíÅ
£œ ˜”#Ð “þy£z ~£z ˜”#!Ýþöì„þ òßþº’Åöìîû’%îû ˜”#ó îöìœÐ

11. (d) xyoÅ ˜y!“þŸ#öì“þy¡Œ xMþéöìœ ëy!sþf„þ ç îûy¢yëû!˜„þ xyî£!î„þyîû
¢›y˜¦þyöìî „þyëÅ„þîû# £ëûÐ

12. (c) þ™[þ£îûþ™%îû– =œîy†Å– ö„þyRy=öìvþ›– !îŸy…yþ™_˜›Ð
13. (a) ö¢yœyöì̃ !¢ vþz!q” öíöì„þ !ŸöìÒ îÄî£*“þ „þyàþ þ™yçëûy ëyëûÐ
14. (a) x’%‹#î •¹‚¢ „þîûyîû ‹˜Ä ”%•öì„þ þ™ylßþîûy£z‹vþ „þîûy £ëûÐ
15. (a) þ™![þ“þ ‹ç£îûœyœ ö˜£îû& 1946 ¢yöìœîû 13 !vþöì¢Áºîû

†’þ™!îû¡ìöì” vþzöìjŸÄ›)œ„þ ²Ìhßþyî öþ™Ÿ „þöìîû̃  ëy þ™îûî“Åþ#öì“þ
¦þyîû“þ#ëû ¢‚!î•yöì̃ îû ²Ìhßþyî˜y !£öì¢öìî „þy‹ „þöìîûÐ

16. (b) öîûy!ëû‚ ²Ì!“þöìëy!†“þy îy ö˜ï„þy îy£zé‰þôé~îû ¢öìD ë%_«Ð ²Ìí›
!vþvþz„þ xšþ çöìëû!œ‚Ýþöì̃ îû ˜yöì› ˜y›„þîû’ „þîûy £öìëûöìŠéÐ

17. (a) ò!îÙ» !ŸÇþ„þ !”î¢ó ²Ì!“þ îŠéîû 5 xöìQyîîû !îÙ»îÄyþ™# þ™yœ˜
„þîûy £ëûÐ 1995 ¢yœ öíöì„þ ~!Ýþ þ™y!œ“þ £öìëû xy¢öìŠéÐ
£zvþzöì̃ öìßþñyîû ›öì“þ– !îÙ» !ŸÇþ„þ !”î¢ !ŸÇþy ç vþz§¬ëûöì̃ îû
öÇþöìe !ŸÇþ„þöì”îû x¢y›y˜Ä xî”yöì̃ îû ßþº#„,þ!“þ ßþºîû*þ™ þ™yœ˜
„þîûy £ëûÐ !îöìÙ»îû 100!Ýþ ö”öìŸ ~£z !”î¢!Ýþ þ™y!œ“þ £öìëû
íyöì„þÐ xÄy!‰þ¦þy¢Å

18. (a) ~!Ýþ þ™!Øþ›‡yÝþ þ™îÅ“þ›yœyîû x‚Ÿ ~î‚ ~îû vþzF‰þ“þy 2695
!›Ýþyîû S8843 š%þÝþVÐ

19. (d) ¢›%o ‹öìœ þ™,!íî#öì“þ ¢îÅ²Ìí› ‹#öìîîû vþzqî ‡öìÝþÐ ~£z
²Ì¢öìD !îKþy˜#îûy ›öì̃  „þöìîû̃  ²Ìyëû 3.5-4 !î!œëû̃  îŠéîû
xyöì† ²Ìí› ‹#öìîîû ¢,!ÜT £öìëû!ŠéœÐ

20. (b) !˜vþz!„Ïþëûyöì¢îû ¦þîû¢‚…Äy £œ ö²ÌyÝþ˜ ç !˜vþzÝþÆ̃  ¢‚…Äyîû ¢›!ÜTÐ
21. (c) ¢î%‹ ¢)‰þöì„þîû !¦þ!_öì“þ þ™,!íî#îû ¢öìîÅyF‰þ ßþiyöì̃  îûöìëûöìŠé

¢%£zöìvþ˜Ð
22. (a) ²Ìy‰þ#˜„þyöìœ ×#„,þ¡Œ ç îy’y¢%öìîûîû ö¢˜yîy!£˜#îû ›öì•Ä ~„þ

¦þëûyî£ ë%öìkþîû þ™îû þ™%öìîûy xMþéœ!Ýþ îûöì_« îû!O“þ £öìëû !†öìëû!Šéœ–
öë „þyîûöì’ ö“þ‹þ™%îûöì„þ ò!¢!Ýþ xšþ îÏyvþó îœy £ëûÐ

23. (a) ²Ìy‰þ#˜„þyöìœ çÝþ!›œ ö„þ„þ Ö•%›ye ßþñÝþœÄyöìuþ£z þ™yçëûy öë“þ
~î‚ çÝþ¢ !Šéœ ßþñÝþœÄyöìuþîû x“þÄhsþ ‹˜!²Ìëû šþ¢œÐ “þy£z
ßþñÝþœÄyuþöì„þ òö„þöì„þîû ö”Ÿó îœy £ëûÐ

24. (a) ÝþŸÅ̃  “%þœyîû ¢y£yöìëÄ ”%!Ýþ “þ!vþü“þy•yöì̃ îû !¦þ“þîû !e«ëûyŸ#œ
îöìœîû þ™!îû›y’ !˜•Åyîû’ „þöìîû!Šéöìœ˜ „%þœÁºÐ

25. (d) ›y˜%öì¡ìîû ë„,þöì“þ !¦þÝþy!›˜éôéA ¢!Mþé“þ íyöì„þÐ
26. (c) cT ²Ì“þ#„þ!Ýþ ~„þ!Ýþ vþz¡Œ ç ÖÜñ ›îû&¦)þ!› xMþéöìœîû çþ™öìîû

îyëû% ¦þöìîûîû ¢!àþ„þ ²Ì!“þ!˜!•c „þöìîûÐ
27. (d) þ™Dyœ vþzê¢î!Ýþ ‰þyîû!”˜îÄyþ™# “þy!›œ˜yvþYöì“þ þ™y!œ“þ £ëû ›)œ“þ

šþ¢œ „þyÝþyîû vþz”ëyþ™˜ !£öì¢öìîÐ þ™Dyœ vþzê¢î!Ýþ ¢)ëÅöì„þ
vþzöìjŸÄ „þöìîû þ™yœ˜ „þîûy £ëûÐ

28. (c) ¦þyîû“þ#ëû ¢‚!î•yöì̃ îû 315 ˜Áºîû xy!ÝÅþöì„þœ UPSC ~î‚
SPSC ²Ì!“þÛþyîû ¢öìD ¢Á™„Åþë%_«Ð

29. (d) ~„þÝþy˜y 49 !”˜ •Äyöì̃ îû þ™îû ö†ï“þ› î%kþ !î£yöìîûîû öîy•†ëûy
@ùÌyöì› ~„þ!Ýþ !þ™þ™œ †yöìŠéîû ˜#öì‰þ öîy!• SKþy˜V œy¦þ „þöìîû̃ Ð
~îûþ™îû !“þ!˜ vþz_îû²Ìöì”öìŸîû öî˜yîû¢ Ÿ£öìîûîû „þyöìŠé ¢yîû̃ yí
@ùÌyöì› “¤þyîû ²Ìí› •öì›Åyþ™öì”Ÿ ö”˜Ð

30. (a) ~!Ýþ x¢öì›îû ~„þ!Ýþ ¢îû„þy!îû ¦þy¡ìy ~î‚ ~!Ýþ ‰þ#˜éôé!“þî¹“þ
¦þy¡ìyîû ~„þ!Ýþ x‚ŸÐ ~!Ýþ öîyöìvþy ¦þy¡ìyîûç ~„þ!Ýþ x‚ŸÐ

31. (c) ¦þyîû“þ#ëû ¢‚!î•yöì̃ îû xÜT› “þšþ!¢öìœ 22!Ýþ ¦þy¡ìy xhsþ¦%Åþ_«
£öìëûöìŠéÐ

32. (d) GSAT £œ ~„þ!Ýþ !‹ç!¢˜!e«öìëûy˜y¢ ¢ÄyöìÝþœy£zÝþ ëy ›)œ“þ
!vþ!‹Ýþyœ x!vþç– öëy†yöìëy†– övþÝþy ç !¦þ!vþç ¢Á±‰þyöìîûîû
‹˜Ä îÄî£*“þ £ëûÐ

33. (a) îyîûöì”y!œ ¢“þÄy@ùÌ£ 1928 ¢yöìœ ¢”Åyîû îÍÔ¦þ¦þy£z þ™ÄyöìÝþöìœîû
ö˜“,þöìc £öìëû!ŠéœÐ

34. (c) „þ’ÅyÝþöì„þ xî!ßþi“þ ö„þyœyîû ö†yÓþ !šþÓþ¢ (KGF) ~î‚ ý!R
ö¢y˜yîû …!˜îû ‹˜Ä !îöìŸ¡ì þ™!îû!‰þ“þÐ KGF £œ ¦þyîûöì“þîû
²Ìy‰þ#˜“þ› ~î‚ †¦þ#îû“þ› ö¢y˜yîû …!˜Ð



xÄy!‰þ¦þy¢Åî¡ìÅ éôé 12– £z¢%Ä éôé 12  ~!²Ìœ– 20252

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
xÄy!‰þ¦þy¢Å

35. (d) 2025 ¢yöìœîû ‰þÄy!Á™ëûª ÝþÆ!šþöì“þ !˜vþz!‹œÄyuþöì„þ £y!îûöìëû
‹ëûœy¦þ „þöìîûöìŠ ¦þyîû“þéÐ xy£z!¢!¢ ‰þÄy!Á™ëûª ÝþÆ!šþîû £z!“þ£yöì¢
~!Ýþ !Šéœ ˜î› ¢‚ßþñîû’ ~î‚ ˜ëû îyöìîûîû ›öì•Ä þ™¤y‰þ îyîû£z
šþy£z̃ yöìœ öþ™¤ïöìŠéöìŠé ¦þyîû“þÐ ‰þÄy!Á™ëûª ÝþÆ!šþîû £z!“þ£yöì¢ ~£z
öîû„þvÅþ xyîû ö„þyöì̃ y ö”öìŸîû ö˜£zÐ

36. (d) xy£z!¢!¢ þ™%îûßþñyîû !î¦þyöì† öÝþÞÝþ !e«öì„þÝþyîû xšþ ”Ä £zëûyîû
2024 £öìëûöìŠé˜ ëŸ²Ì#“þ î%›îûy£Ð

37. (c) xy!îûëûy˜y ¢yîyöìœBþy šþy£z̃ yöìœ öGþ‚ !„þ˜çöìëû̃ öì„þ 6éôé3–
6éôé2 šþœyšþöìœ þ™îûy!‹“þ „þöìîû̃ Ð

38. (c) vþzöìÍÔ…Ä– 1993 ¢yœ öíöì„þ ¦þyîû“þ ç ç›yöì̃ îû ›öì•Ä ~£z
›£vþüy!Ýþ x˜%!Ûþ“þ £öìëû ‰þöìœöìŠéÐ

39. (c) †Í³þ vþzþ™“þÄ„þyîû xhsþ†Å“þ ç›y˜ îûyÜTÉ!Ýþ ¦þyîûöì“þîû ¢öìD ²Ìí›
!mþ™y!Çþ„þ öëïí ö˜ï›£vþüyëû x‚Ÿ@ùÌ£’ „þöìîûÐ

40. (c) D îÏ„þ ö›ïöìœîû d xîû!îÝþyœ xy‚!Ÿ„þ îy ¢Á™)’Åîû*öìþ™ …y!œ
íyöì„þ ëy œ%£z¢ xÄy!¢vþ !£öì¢öìî „þy‹ „þöìîû ~î‚ œ%£z¢ öî¢
S!œ†ÄyuþV öíöì„þ £zöìœ„þÝþÆ̃  @ùÌ£’ „þöìîû ¢›öìëy‹# îõþ˜ ÷“þ!îû
„þîûöì“þ þ™yöìîûÐ xíÅyê ~£z ö›ïœ=!œîû £zöìœ„þÝþÆ̃  @ùÌ£’ Çþ›“þy
öî!ŸÐ
[ ²ÌÙÀþ™öìe ¦%þœîŸ“þ D îÏ„þ ö›ïöìœîû ‹yëû†yëû Q îÏ„þ ö›ïöìœ
£öìëû ö†öìŠéÐ ~£z x!˜FŠéy„,þ“þ ¦%þöìœîû ‹˜Ä ”%ƒ!…“þÐ ]

41. (a) 25 ‹˜ !î”ÄyíÅ#îû †vþü ç‹˜ = 28.800 !„þ@ùÌy
25 ‹˜ !î”ÄyíÅ#îû ö›yÝþ ç‹˜ = (28.8 × 25) = 720
!„þ@ùÌy
26 ‹˜ !î”ÄyíÅ#îû †vþü ç‹˜ = (28.800 – 0.300) !„þ@ùÌy

        = 28.500 !„þ@ùÌy
26 ‹˜ !î”ÄyíÅ#îû ö›yÝþ ç‹˜ = (28.500 × 26) = 741
!„þ@ùÌy
˜“%þ˜ !î”ÄyíÅ#îû ç‹˜ = (741 – 720) = 21 !„þ@ùÌy

42. (c) ›öì̃  „þ!îû– 11“þ› £z!˜‚öì¢îû †vþü = x
“þy£öìœ 12“þ› £z!˜‚¢ þ™ëÅhsþ †vþü = (x + 9)
 12(x + 9) – 11x = 129
 12x – 11x = 129 – 108
 x = 21
 11“þ› £z!˜‚¢ þ™ëÅhsþ †vþü = 21

43. (d) ›öì̃  „þ!îû A !î¦þyöì† îÄ!_«îû ¢‚…Äy = x
B !î¦þyöì† îÄ!_«îû ¢‚…Äy = (100 – x)
A !î¦þyöì† îÄ!_«öì”îû †vþü îëû¢ = 34 îŠéîû
B !î¦þyöì† îÄ!_«öì”îû †vþü îëû¢ = 24 îŠéîû
B !î¦þyöì† îÄ!_«öì”îû ö›yÝþ îëû¢ = [24 × (100 – x)]
îŠéîû
þ™%öìîûy ”öìœîû ö›yÝþ îëû¢ = (27 × 100) îŠéîû
 34x + 24(100 – x) = 2700
 (34x – 24x) = (2700 – 2400)
 10x = 300
 x = 30

 îÄî¢yëû#îû ¢‚…Äy Ÿ“þ„þîûy = 30%
‰þy„%þîû#‹#!îöì”îû ¢‚…Äy Ÿ“þ„þîûy = (100 – 30)% = 70%

44. (c) •!îû ›)œ ¦þ@Ày‚Ÿ 
a
b



“þy£öìœ 
a ~îû 120%
b 95% ~îû 

5
2



120a 5 24a 5100
95 2 19b 2b

100


   



a 5 19 95
b 2 24 48

     
 

45. (a) 3 ›yöì¢ ÷“þ!îû ö›yÝþ !‹!˜öì¢îû ¢‚…Äy = (4000 × 3) =
12000
12 ›yöì¢ ÷“þ!îû ö›yÝþ !‹!˜öì¢îû ¢‚…Äy = (4375 × 12)
= 52500
îy!„þ 9 ›yöì¢ ÷“þ!îû ö›yÝþ !‹!˜öì¢îû ¢‚…Äy = (52500 –
12000) = 40500

!˜öì’Åëû †vþü 
40500 4500

9
 

46. (d) ö›yÝþ ¦þyîû î,!kþ = (1 × 5) = 5 !„þ@ùÌy
˜“%þ˜ îÄ!_«îû ç‹˜ = (60 + 5) = 65 !„þ@ùÌy

47. (a) •!îû A ö“þ !ßþiîû †y!vþüîû †!“þöìî† x !„þ!›/‡^ùÝþy ~î‚ B ö“þ
!ßþiîû †y!vþüîû †!“þöìî† y !„þ!›/‡^ùÝþy– öë…yöì̃  y > x
²Ìí› xîßþiyëû–
5y – 5x = 100  y – x = 20
!m“þ#ëû xîßþiyëû–
y + x = 100
~=!œ ¢›•y˜ „þîûöìœ y = 60 ~î‚ x = 40
o&“þ†!“þ ¢Á™§¬ †y!vþüîû †!“þöìî† = 60 !„þ!›/‡^ùÝþy

48. (b) •!îû ßþºy¦þy!î„þ †!“þ = x !„þ!›/‡^ùÝþy

“þy£öìœ ˜“%þ˜ †!“þ 
3x
4

 !„þ!›/‡^ùÝþy

•!îû ö›yÝþ ”)îûc = y !„þ!›

 
y y 20

3x / 4 x 60
 

4 y 1 y1 1
3 x 3 x

      
 

 ßþºy¦þy!î„þ †!“þöì“þ †,£#“þ ¢›ëû = 1 ‡^ùÝþy = 60 !›!˜Ýþ
49. (d) •!îû ö¢ þ™y£yöìvþü x !„þ!› vþzöìàþ!ŠéœÐ “þy£öìœ–

x x 5
3 4.5
 

x 2x 5
3 9

  
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xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

 3x + 2x = 45
 5x = 45  x = 9
 !˜öì’Åëû vþzF‰þ“þy = 9 ‡^ùÝþy

50. (a) 600 !„þ!› öëöì“þ ¢›ëû œyöì† 
600
100

   
 

= 6 ‡^ùÝþy

ö›yÝþ !îîû!“þîû ¢‚…Äy 
600 1 7
75

    
 

öíöì› íy„þy ö›yÝþ ¢›ëû = (7 × 3) = 21 !›!˜Ýþ
ö›yÝþ ¢›ëû = 6 ‡^ùÝþy 21 !›!˜Ýþ

51. (c) ¢%¦þy¡ì 
11
4 ‡^ùÝþyëû ëyëû 

54
4

   
 

!„þ!› = 5 !„þ!›

¢%Ÿ#œì 
11
4 ‡^ùÝþyëû ëyëû = (8 – 5) !„þ!› = 3 !„þ!›

¢%Ÿ#öìœîû †vþü †!“þöìî† 
4 23 2
5 5

    
 

 !„þ!›/‡^ùÝþy

52. (a) 26 !„þ@ùÌy ‰þyöìœîû e«ëû›)œÄ = 2470 Ýþy„þy
26 !„þ@ùÌy ‰þyöìœîû ²Ì“þÄy!Ÿ“þ e«ëû›)œÄ = (2470 + 70) Ýþy„þy

   = 2540 Ýþy„þy
10 !„þ@ùÌy ‰þyöìœîû !îe«ëû›)œÄ = (10 × 110) = 1100 Ýþy„þy
16 !„þ@ùÌy ‰þyöìœîû !îe«ëû›)œÄ = (2540 – 1100) Ýþy„þy

       = 1440 Ýþy„þy

~£z ‰þyöìœîû !î!e«îû ”îû 1440
16

  Ýþy„þy ²Ì!“þ !„þ@ùÌy

  = 90 Ýþy„þy ²Ì!“þ !„þ@ùÌy
53. (d) •!îû– ²Ìí› ‰þyöìëûîû ”îû = x Ýþy„þy ²Ì!“þ !„þ@ùÌy

˜“%þ˜ ”îû 
90 9xx

100 10
    
 

Ýþy„þy ²Ì!“þ !„þ@ùÌy

 
22500 22500 25
9x /10 x

 

22500 10 22500 25
9x x


  

25000 22500 25
x x

  

 25x = (25000 – 22500) = 2500

2500x 100
25

    Ýþy„þy ²Ì!“þ !„þ@ùÌy

54. (c) !îe«ëû›)œÄ = 6750 Ýþy„þy ~î‚ Çþ!“þ = 25%

 e«ëû›)œÄ 
100 6750
75

   
 

= 9000 Ýþy„þy

œy¦þ = 15%

 !˜öì’Åëû !îe«ëû›)œÄ
115 9000
100
   
 

Ýþy„þy

  = 10350 Ýþy„þy

55. (a) •!îû– A x Ýþy„þy !”öìëû ~!Ýþ !„þöì̃ öìŠéÐ “þy£öìœ–
x ~îû 115% ~îû 90% = 517.50

115 90x 517.50
100 100

   

23 9x 517.50
20 10

   

 (23 × 9)x = 103500
103500x 500
23 9

  


¢%“þîûy‚ A ö¢!Ýþ 500 Ýþy„þy !”öìëû !„þöì̃ öìŠéÐ
56. (c) ë!” !‹!˜¢!Ýþîû vþzêþ™y”˜ ›)œÄ = x Ýþy„þy

“þy£öìœ– x Ýþy„þyîû 110% ~îû 115% ~îû 125% = 1265

110 115 125x 1265
100 100 100

    

11 23 5x 1265
10 20 4

    

1265 10 20 4x 800
11 23 5
  

  
 

¢%“þîûy‚ !‹!˜¢!Ýþîû vþzêþ™y”˜ ›)œÄ 800 Ýþy„þy

57. (b) A ~îû 1 !”öì̃ îû „þy‹ 
1

10


B ~îû 1 !”öì̃ îû „þy‹ 
1

15


(A + B) ~îû 1 !”öì̃ îû „þy‹

1 1 (3 2) 5 1
10 15 30 30 6

      
 

 A ~î‚ B ~„þ¢yöìí „þy‹!Ýþ 6 !”öì̃  öŸ¡ì „þîûöìîÐ
58. (b) (A ~îû 5 !”öì̃ îû „þy‹V + (B ~îû 7 !”öì̃ îû „þy‹V + (C

~îû 13 !”öì̃ îû „þy‹V = 1
 {(A + B) ~îû 5 !”öì̃ îû „þy‹} + {(B + C) ~îû
2 !”öì̃ îû „þy‹} + C ~îû 11 !”öì̃ îû „þy‹ = 1

1 15 2
12 16
         
   

+ C ~îû 111 !”öì̃ îû „þy‹ = 1

 C ~îû 11 !”öì̃ îû „þy‹
5 1 13 111 1

12 8 24 24
           
   

 C ~îû 1 !”öì̃ îû „þy‹ 
11 1 1
24 11 24

    
 

¢%“þîûy‚ C ~„þy „þy‹!Ýþ 24 !”öì̃  öŸ¡ì „þîûöìîÐ
59. (b) 3 !”öì̃  „þy‹ £ëû = (3A + B + C) ~îû „þy‹

3 1 1 12 1
20 30 60 60 5

      
 



xÄy!‰þ¦þy¢Åî¡ìÅ éôé 12– £z¢%Ä éôé 12  ~!²Ìœ– 20254

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

1
5 ¦þy† „þy‹ öŸ¡ì £ëû = 3 !”öì̃

¢Á™)’Å „þy‹ öŸ¡ì £öìî = (3 × 5) = 15 !”öì̃

60. (a) (A + B)  1 ,
12

 (B + C)  1 ,
15

1C A
2



1 1B A
2 15

    
 

  1 1 1 1A B B A
2 12 15 60

          
   


1 1 1 1A A 2
2 60 60 30

       
 

¢%“þîûy‚ A ~„þy „þy‹!Ýþ 30 !”öì̃  öŸ¡ì „þîûöìîÐ

61. (d) 3 !›!˜öìÝþ ¦þ!“Åþ £ëû 
 3 5 41 1 93

12 15 60 20
     

 

îy!„þ x‚Ÿ 
9 111
20 20

    
 

~£z x‚Ÿ Q myîûy ¦þîûy £öìëûöìŠéÐ
1

15  x‚Ÿ ¦þîûy £ëû = 1 !›!˜öìÝþ

11
20 x‚Ÿ ¦þîûy £ëû 

11 33 115 8
20 4 4

     
 

!›!˜öìÝþÐ

62. (a) ›)œ•˜ = ` 8500, ¢%öì”îû £yîû = 9% îy!¡ìÅ„þ– ¢›ëû
1 52
2 2
 îŠéîû

¢îûœ ¢%” 
9 5 38258500  

100 2 2
         
   

` `

     = ` 1912.50
ç£z îÄ!_« ö›yÝþ Ýþy„þy öšþîû“þ ö”öìî
= ` (8500 + 1912.50) = ` 10412.50

63. (d) 2 îŠéöìîûîû ¢%” = ` (3000 – 2900) = ` 100

 8 îŠéöìîûîû ¢%” = `
1100 8
2

   
 

= ` 400

 ›)œ•˜ = ` (2900 – 400) = ` 2500
¢%” = ` 400, ¢›ëû = 8 îŠéîû

¢%öì”îû £yîû 
100 400 % 2%
2500 8

    
64. (a) •!îû ›)œ•˜ = ` x “þy£öìœ–

6 9x 2 x 3
100 100
14x 4 11400

100

           
   
    
 

3x 27x 14x 11400
25 100 25

   

 (12x + 27x + 56x) = 1140000
 95x = 1140000

1140000x 12000
95

  

¢%“þîûy‚ •yîû ö˜çëûy xíÅ = ` 12000
65. (c) •!îû 6% £yöìîû ö”çëûy }’ = ` x

“þy£öìœ 5% £yöìîû ö”çëûy }’ = ` (10000 – x)

  5 610000 x 1 x 1 76.50
100 100

        
 

 50000 – 5x – 6x = 7650
 11x = (50000 – 7650) = 42350
 x = 3850
¢%“þîûy‚ 6% £yöìîû ö”çëûy }öì’îû þ™!îû›y’ = ` 3850

66. (c) öÇþešþöìœîû x˜%þ™y“þ £öìî = 42 : 52 = 16 : 25
67. (c) îûyhßþyîû öÇþešþœ = {(8 + 6) × 1 – 12} = (14 – 1)

= 13 î†Å!›Ýþyîû

68. (c) öÇþešþœ î,!kþ/£Éy¢   20 1020 10 %
100
    

 
= 8% S~…yöì̃  šþœ ‘+’V

 öÇþešþœ î,!kþ = 8%

69. (b) xyëû“þ˜ 30 18 15  

6 6 15 15     = 90 ‡˜öì¢!rÝþ!›Ýþyîû
70. (c) !îe«ëû›)œÄ = e«ëû›)œÄ éôôôé Çþ!“þ

144!Ýþîû !îe«ëû›)œÄ = 144!Ýþîû e«ëû›)œÄ éôôôé 6!Ýþ îyöì:îû
!îe«ëû›)œÄ
150!Ýþîû !îe«ëû›)œÄ = 7200 Ýþy„þy

 1!Ýþîû !îe«ëû›)œÄ 7200 48
150

  Ýþy„þy

71. (d) 1

12

4 9 16 25 36 49

22 32 42 52 62 72

72. (a)

×2

3 15 90

×3 ×4 ×5 ×6

1
8

1
4

3
4 630

×7

73. (a)

1 4

+2

7 11 16 22

+3 +4 +5 +6

2 
29

+7

74. (b) 3   :   28   ::   5   :  

3  + 13 5  + 13

126

75. (d) ²Ìí› xÇþîû=!œîû ö×!’é ­

 D +4 H L+4 +4 P
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!m“þ#ëû xÇþîû=!œîû ö×!’ ­

 V –4 R N–4 –4 J
“,þ“þ#ëû xÇþîû=!œîû ö×!’é ­

 F +4 J N+4 +4 R
‰þ“%þíÅ xÇþîû=!œîû ö×!’ ­

 T –4 P L–4 –4 H
76. (d) ZA / YB / XC / WD / VE / UF
77. (b) a b d c a c b d a b c d / d c b a d b c a c

d b a
 cbbaa

78. (c) I m n / I m n / I m n / I m n
79. (a) PJG
80. (a) þ™îûþ™îû ¢y‹yöìœ £öìîéôôôé Interlude  Interview 

Intestine  Invent
81. (b) vþy˜!”öì„þîû öŸ¡ì öíöì„þ ~†yöìîûy“þ› îöì’Åîû vþy˜!”öì„þîû ¡ìÛþ î’Å

= vþy˜!”„þ öíöì„þ (11 – 6)ôé“þ› î’Å îy 5 “þ› î’Å
= îy›!”„þ öíöì„þ (27 – 5)ôé“þ› î’Å îy 22 “þ› î’Å = ‘V’

82. (b) C H A I R S
B

¢%“þîûy‚– 2 ö‹yvþüy xÇþîû £œ CA/RS
83. (c) ENRAGE Ÿ·!Ýþ ÷“þ!îû „þîûy ¢½þîÐ

NEGLECT / MENTOR / AGRUE ßþiyöì̃ îû xÇþîû=!œ
›)œ Ÿöì· ö˜£zÐ

84. (d) xyëû“þ˜ Šéyvþüy îy!„þ !“þ˜!Ýþ !e¦%þöì‹îû ¢yöìí ¢Á™!„Åþ“þÐ
85. (c) ò…y!îû‹ó Šé!îîû þ™!îû‰þyœ„þ ›,’yœ ö¢˜– îy!„þ !“þ˜!Ýþîû þ™!îû‰þyœ„þ

xþ™’Åy ö¢˜Ð
86. (c) xõþ„þyîû– ¦þöìëûîû ¢öìD ¢Á™!„Åþ“þÐ

¢“þ“þy– !îÙ»yöì¢îû ¢öìD ¢Á™!„Åþ“þÐ

87. (c) (i) 2    3    6      God   is     good

(ii) 8   6      5      Very  good     boy

(iii) 7     2     5      Boy     is       brave

(iv) 5     7     4      Ram       brave       boy

(a) (i) ç (ii)éôé~ 6 ~î‚ ‘good’ ¢y•yîû’Ð
 6 ›yöì̃  ‘good’Ð

(b) (i) ç (iii)éôé~ 2 ~î‚ ‘is’ ¢y•yîû’Ð
 2 ›yöì̃  ‘is’Ð

(c) (ii), (iii) ç (iv)éôé~ 5 ~î‚ ‘boy’ ¢y•yîû’Ð
 5 ›yöì̃  ‘boy’Ð

(d) (iii) ç (iv)éôé~ 7 ~î‚ ‘brave’ ¢y•yîû’Ð
 7 ›yöì̃  ‘brave’Ð

 (iv)ôé~ ²Ì”_ îy„þÄ!Ýþöì“þ 4 ›yöì̃  ‘Ram’Ð
¢%“þîûy‚ ‘Ram is good boy’ îy„þÄ!Ýþ 4, 2, 6, 5 myîûy
†!àþ“þ £öìîÐ
 !˜öì’Åëû vþz_îû 6245

88. (b)

270°

135°

90°

~…˜ ö¢ ”!Çþ’éôéþ™!Øþ› !”öì„þ ›%… „þöìîû ”¤y!vþüöìëû xyöìŠéÐ

89. (d)    X Y

Z

P

N

S

EW

Yéôé~îû ”!Çþ’éôéþ™!Øþ› !”öì„þ P xî!ßþi“þÐ
90. (b) S

91. (c) 4 9×2+1 20 43 90×2+2 ×2+3 ×2+4

90 185 376×2+5 ×2+6 759×2+7

92. (a) ²Ìí› hßþ½þ ­ (3 × 4 × 5) – 2 = 58
!m“þ#ëû hßþ½þ ­ (5 × 6 × 2) – 2 = 58
“,þ“þ#ëû hßþ½þ ­ (8 × 4 × 2) – 2 = 62
‰þ“%þíÅ hßþ½þ ­ (7 × 6 × 3) – 2 = 124

93. (a) ²Ì”_ Ÿ·!Ýþîû î’Å=!œîû ›öì•Ä M î’Å!Ýþ ö˜£zÐ “þy£z vþz_îû £öìî
MENTAL.

94. (a) î,£ßþ™!“þîyîû + 2 = Ÿ!˜îyîû
95. (b) £!îûîû ßþ¿,!“þ x˜%ëyëû#– “þyîû îyîyîû ‹§Ã!”˜ 14 xíîy 15

‹%̃ Ð
£!îûîû öîyöì̃ îû ßþ¿,!“þ x˜%ëyëû#– “þyîû îyîyîû ‹§Ã!”˜ 15, 16
xíîy 17 ‹%̃ Ð
~îû ›öì•Ä ¢y•yîû’ “þy!îû… 15 ‹%̃ Ð
 ”%‹öì̃ îû ßþ¿,!“þ x˜%ëyëû# “þyöì”îû îyîyîû ‹§Ã!”˜ 15 ‹%̃ Ð

96. (a) 4 < 2 + 5 + 8 × 5
 4 × 2 – 5 – 8 = 5
 8 – 5 – 8 = 5
 – 5 = 5 S¢½þî ˜ëûV

97. (b)
xRy!œ„þy 

îy!vþü
„þÇþ
šÏþÄyÝþ

!¢kþyhsþ (2) ¢“þÄ

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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98. (c) x¢#›yîû àþy„%þîû”yîû ~„þ›ye þ™%e  x¢#›yîû îyîy

îûy‹%îû ¦þy£zöìëûîû ›y›y  îûy‹%îû ›y›y

 îûy‹%îû ›y›y x¢#›yîû îyîy £öìœ îûy‹% x¢#›yîû !þ™¢“%þöì“þy
¦þy£zÐ

99. (a)

100.(c)

——————

xÄy!‰þ¦þy¢Å xÄy!‰þ¦þy¢Å


